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ya

(4) x*—2x-3b, (5)  x*—14x+4o0,
(6) x*+729 (7)  6xT417x+45,
(8) 6x*—13x-5, (9) - 7x*4+39x-18,
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(1) 9a*b®x%*y®, —48a%b%cx, 12a%b*cxy?,
() Sabla+b)?, 12(a+ b)(a—~b),

20(a —b)*(a+b)*,
(3) x*—5x46, i2—4; x*—3x42
16185 F 5l 45 4 R

Xty L x—y x4yt
(1) x__}' + x_{_y xZ__y2 .

9
1 n 1

@) woerre v oarrs T e osire

x*—0x+0 x*—Hx+4

m:*—n*  n-m
W gt ewd
at+b a-—b
. a=-b atb
(51 1— a2+b2 .
(a+ b)*

s =% BEHER

= aé.-g:—-2y+3z, b=y—-2z+3x, c=2-2x+3y,

sgeratbte=20x+y+2),

2.

R F F 4 XA & L
(1) 1 +%1 2a 4a?

x—a ' x+a 1+a x*+a*’

(2) a*+b*—c*+2ab « a*—-b?*+e* —2ac
J az__,bz__ce__gbc az-__b2“¢2+2bc.
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(5 (x®*—8x)*—4x%4+12x—-21,

R R R
23—-—;-@"3)“—‘1. ‘sze3y=3
(1) - (2) 3y —4z="7
sigye |
8t +-5(s-2)=9, _ 4z —b5x=2,
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1) (a*+ b”)(;’-i—y’)—(ax-l— by)?
=(ay— bx)*
(2) (a*+4ab+¥b*)*—-(a*—ab+b*)? .
==4ab(a2+l;“‘). |
20 BRIk A R OK T 5
(1) - =1+ 4D 41D,
(2) )=y +xy+ 90— 2y +93),
(3}  (a+b+3c)(a+b-5c),
4 x-1),
(6) (x+DD(x+2)(x+3)(x+4),
3. HGHETIHARXEEHK:
(1) a*—2ab+b*-c*,
(2) x*—8x¥°,
(3) xa-!-x”3'+x22—-xyz—y2g—-yz’
(4) x*--13x* +36,
(6, (@*+b¥-c*—d*)*~4(ab+cd)?
4. R 7 RS
X - -y 1

a+b a-b a+b
X - Y 1

a-tb +'.a-—b X
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